=0 o
202435 20la LBHSIH SEMAA
SN SETAA
A FOAM MN SE(UVDIUE/ABHE)
oS AIZER CEEEED
SH - EHH . O(3) - NRAIY - BAS Ofl st Gl RS2
SEMA 12,573,485 15,174,325 2,600,840
[ 62,526
Al 12,500,959
= 10,000
FQAIM Mt S8 (UBZIUE/ALEE) 4,835,847 3,961,917 873,930
NEEE] 4,835,847 3,961,917 873,930
NEEE] 4,620,487 3,756,367 864,120
201 LB A 469,427 3,643,467 A\3,174,040
01 AFR2t2IHI 384,902 3,539,340 A\3,154,438
O&EUMIZ =2 15,0002« 15082+ 122 27,000
OAlEe2t 500,000 %603 30,000
OAIE 01 el 14,600
—Q% MEEX 7
5,000,000 1CH 5,000
— AR OlgtZ 800,000 * 12 9,600
OZ2e WA 7 13,500
—TR#E 2 15
7,5002%150 2 122 13,500
OZF2AIX 3.5 FF' w2t
150,000,000 * 14! 150,000
OFR =M 22 S o gazs =
10,000, 0002 <3 30,000
OANFHSA 2E=x M=
50,000,000 x 14! 50,000
Og=Al E2 42 S HE
40,000,000 * 14! 40,000
OXe EBMIEHX 29 7,920
—=EH 8,0002*10H*23|«12& 1,920
—AEl - A S Y EHE
250,0002%23]x 122 6,000
OSEHE) S/ &4 +g
100,0002 x62*23] 1,200
OZE#HI|&2|35 &4 oYl
90,0002 x6H*23] 1,080
OZ2I2AH|(OII0IBAIAE ATEQIN SXIES)
197,997, 74024%9/100%1.1 19,602
02 2229 84,525 104,127 19,602
OAIYOIAH ARE
165,000 %350 | 12 69,300
O E8DULE XL
300,000+ 12 3,600
O EH| S| 10,425
—HICI2It0I2H( £)
25,240,0002 *2CH*3/100 1,615
—HICI23t0iI2HTH)
130,000, 0002 *2CH*3/100 7,800




SA EEAAA
HI: FQAIM AN SH(UBIDIHE/UBIEE)
oe ANZE=S (Crel: me)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
—CIXIE3t0et 5,000, 0002 *2CH*3/100 300
—HILREZRE 27,000,00024*3/100 810
OEEX/Hl s 282 600,000 x4l 1,200
203 2EZIH| 9,000 10,000 A 1,000
03 AIBEZRIQREAIH 9,000 10,000 A 1,000
OFQAM 28 948 =3
9,000,000 * 14! 9,000
301 LBE A3 5,940 5,940 0
11 BAFAHIXIRZ 5,940 5,940
OZEUAl & E2ESH
90,0002 % 11Hx3*23] 5,940
303 ZAZ 6,000 6,000
01 Za= 6,000 6,000 0
O 424 AlY
1,000,0002*3 1 E+23 6,000
307 212+0|& 110,120 83,960 26, 160
02 QIFAAAIIE R 68,120 43,960 24,160
OYZMArSes X (2X8 FY)
50,000,0002* 14! 50,000
OB2NREHY FFAIKIG ALY BE(EXS 80%)
18,120
—O{DLIEZ=0| 2 A 2HAIS
6,950,000 * 1A41%80/10 5,560
—Ei=2D| Lis 8A
6,000,000 * 1A1%80/100 4,800
—JIE @cle SY o2 1S
7,000,000 * 1A1%80/100 5,600
—HAE DIFEAID DSAY
2,700,000 * 141%80/ 100 2,160
03 QIIEHH M 2YH| 2 X 42,000 40,000 2,000
OBIZNREAY FFAIXS 2LH|(EXS FHH)
42,000,000 % 14! 42,000
308 XIXISHHISOIA 4,020,000 0 4,020,000
13 2O S0 HEH B AR R(EAAH 4,020,000 0 4,020,000
OgSAF 2HQ L SHISA Z(TV, 201, IPTV)
550,000,000 * 14! 550,000
OtfeleEe g T2 )2 HIA
450,000,000 % 14! 450,000
O2& S &2 IYFA 2
10,000,000 *6 60,000
odrolg &2 6,000,000 %10 60,000
OUETAl 932t A3 20
10,000,000 =42 40,000

OAlRIX ESEGAZ M

20,000, 000& x4 # 80,000




SA EEAAA
HI: FQAIM AN SH(UBIDIHE/UBIEE)
2 NEST (Cto: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OUSAl HEWS(A) &% 20
80,0002 *125CH+ 122 120,000
SEB 2N 90,000,000 %14l 90,000
OKTX - SRT OHHE &1 15,000,000 %4 60,000
O=SAZ2 TAl S4 20
700,000,000 * 14! 700,000
O=E42 22t &2 03
23,000,0002 %203 460,000
OHEAIXIY 22Xt &8 ZH|
550,000,0002 %14l 550,000
OAE 88 Za(ke, & S)
600,000,000 * 14! 600,000
OJIBEd 882 Z2(AR)
200,000,000 * 14! 200,000
S0ICI0E 2238 AEER 215,360 205,550 9,810
201 LB 15,960 156, 150 A140,190
01 AlR2t2lH] 15,960 156, 150 A140,190
OIISE SX L&l MHIA
16.584%12,000Z 203 3,960
OSNS E8 ZEH= 2R AlASY
20,0002 *4H*1024*23] 1,600
OSNS EEHE M= 20,00024x20% 400
OSNS JH2IE =ols 2] 2 &=
5,000, 0002423 10,000
301 LBtEEa 47,000 47,000
11 BAFAHIXI 22 7,200 7,200 0
OSNS EEEH SHAL &4 AlH| B4
90,0004 +20H*13] 1,800
OSNS E2¢E+ 3/0| &4 ofd| K&
90,0004+ 15H*43] 5,400
14 J|EtR A 39,800 39,800 0
OSNS E8¢ 2102
120, 0002202 * 123 28,800
OSNS OIHIE ZHOIXt J|EE
10,0002+ 100H 53] 5,000
ONS 2E= ZRF(=20)
6,000,0002* 14! 6,000
303 LA 2,400 2,400
01 A2 2,400 2,400 0
OSNS ZEI= 2OH(X)
2,400,0002 % 14! 2,400
308 RHXISHHISOIA 150,000 0 150,000
13 2SO CHEHZ A E QEAIH 150,000 0 150,000
ONS E8 2ZEHI= JHg 2 M=
50,000,0002* 14! 50,000
OSNS At ZEIX H& 2L =8
100,000,0002 %14 100,000




SN ESFAA
ME: NPSIAY(YBIDDHE AV
S A HES F=& (cHol: M)
A - BE - BRI(E) - KIRA - BAS ofl e Gl imE=T
HESIAIY (LB Z 2T /2ABIBA ) 2,725,960 2,721,914 4,046
= 18,786
Al 2,697,174
= 10,000
HY HL5 =& 2,494,761 2,568,413 AT73,652
[ 4,914
Al 2,489,847
SHHHA 22| R 1,390,942 1,321,932 69,010
201 LBr2 | 1,155,088 1,097,582 57,506
01 AR 22| 552,890 52,950 499,940
OHIOIZA G2 T2 024 & LIPCKIZI0] 2 48,600
—LHSHHL 37,700,000 % 14! 37,700
— |4 2H(CCTVRE R AMIES )
4,600,00021%14! 4,600
—MH(2IsA) 6,300,000 1Al 6,300
OXBEO L HONSES NS LA
1,000, 000222 2,000
OFAEY| AXI2 200,0002*30CH 6,000
OFAZRY| 26| 30, 00024+50CH 1,500
OFMEH| AZE 2YU(UPHOIE, HUEH S)
70,0004+ 15Z5+33] 3,150
OZZIBAH(HEAAL SEQXE2) 489,540
—GI0IE{HIOI AZI2IAIAEL (DBMS) SXI22H] 22,181
SEAZSDRAAL ¢ 35
144,028,5002%14/100%1. 1 22,181
—3IEQI0f BXIE2H| 165,918
SSAESTEAAL Q| 295
2,006,816,41021%7/100%1 . 1 154,525
CHENPAAL SBAER|R Q 25
115, 186,0002 %7/ 100% 10/ 12%1. 1 7,3%2
C AT SPAIAE SEIIASIAIAE
54,720,00091%7/100%7/12% 1.1 2,458
CHEFSY 2HHEYD A
22,958,00021%7/100%6/ 12+ 1. 1 884
- S50t B2 AQT
34,189,20091%7/100%3/ 12%1. 1 659
TEQI) RXI24t| 118,232
- AEXESBRIAAL Q 2=
977,123, 7102*11/100%1. 1 118,232
—BOHRH| X224 183,209
Oro1| BOIAIAE! Q| 32F
1,565,976, 350210/ 100%1. 1 172,258
SHA QL DDOSRA REHAIAE! DE
9,000,00094%10/100%9/ 12+ 1. 1 743
MEHE ZIQIBEXI Al AE(IPS)
37,500,000 %10/ 100%8/ 12+ 1.1 2,750




S EEMAA
M HESIAIY (LD DA /AL
ool Y 23 =8 (cro): =2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
- KEHE 25t
80,220,00094x10/100%7/121.1 5,148
SHE MHAAS ASFHEH|(VPN)
42,000,0002*10/100%6/12%1.1 2,310
OMEFLAIAL SEHRXESL IS
1,500,000 * 14! 1,500
OAIEQNAIY DIAlO|Q2IF| 2ct
100,00024+3%*23 600
02 2229 602, 198 1,044,632 A4 434
OQIEYAIRR 315,720
—HEU(2H, ABZAR)
1,500,000+ 122 18,000
—ZUYHRI|M (RS, AIPA, SHE)
400,000 %543 &1+ 122 259,200
—EHOIE ! 30,000% 1073 &dx 122 38,520
OSHEQIHU(SBA0ITH0))3M R
33,0002 %1983 & * 122 78,408
OLIXIE AMUHIA OIB2(HBAIAE Z2I2E 018)
88,623
—HZ=A| Y HEH 10,608, 26624 +52 53,042
—3N2C =8 A
4,447 ,6102+8H 35,581
OZHIY $#FA2 |0 HE AlRE
400,0002%13] 400
O#FFEBA2|0| NS HEZ(UMS)
3,000,0002* 12 36,000
OdslE A2 300,000 %122 3,600
OHZE3PC AtBZ 1,700,0002x 12 20,400
OloTdZE A ZEZ 8,800 294l * 12 31,047
OloTHZE 0|M&X| 200,000 *5CH 1,000
O AlE K24
500,0002 % 12 6,000
OFAZY| gegaz g A1 2 A420|H
30,0002 +200CH 6,000
OMRIBEES 25itHat HADS
15,000,000 * 14! 15,000
308 RFXISHHISOIA 191,854 202,350 10,496
13 B 2SO HEI B AR R|E AL 191,854 202,350 10,496
O2-Uet 2.0 SHAIAE K22
67,347,0002* 14! 67,347
OXXISHH ZEJ(8 2 THHETAIAL K 22
117,557,0002 * 14! 117,567
OXISHHESI A BA AL ACHIE S22
6,950,0002* 14! 6,950
401 AlEHI L2 0HH 20,000 20,000
01 Al&H] 20,000 0 20,000
OZzetoImol 7= 20,000, 0002114} 20,000




S EEMAA
MM HESIAIY(UBID DA /UBHEHE)
ool Y 23 =8 (cro): =2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
405 THakE SH 24,000 22,000 2,000
01 AU SEFSH| 24,000 22,000 2,000
OUIXg MEOWM II=Hl 2
24,000,0002* 14! 24,000
HAEH| B2 953,399 1,110,951 A157 552
201 L2 A 203,907 205,051 AT, 144
01 AFRZ2IHI 203,907 205,051 AT, 144
OYRE ATEYNH 2 203,907
-5t QA 90,0002 *420H 37,800
—MS 20~ 277,00024310H 85,870
—0IDIXIHE 610,0002 %20H 12,200
—S3dEy 1,430,000 %2H 2,860
—EHEHEEY 650,000 %90} 58,500
—HIOIE{HI0IA 2e|Z202
275,000 67K 1,650
—CIXte Za= 670,0002*3H 2,010
—9NS 2EIX MEE 0I0IX| 2t0l&A
1,677,0002*1H 1,677
—&H A T2 670,000 %21 1,340
207 SN 47,328 6,500 40,828
02 HADREH 47,328 6,500 40,828
o220l 8 SHAIAY 2=
23,664,0002 %24 47,328
405 KHAHE SH 702, 164 899,400 N197,236
01 MU SEFSH| 702, 164 899,400 N197,236
AP MAEH Y 388,000
—Hx3s 1,300, 0002 %240CH 312,000
—2UH 300,0002!* 160CH 48,000
== 600, 00024+30CH 18,000
—LE=S 2,000,000 %5CH 10,000
OMFI L4ARIX| WH|
27,270,000 *2CH 54,540
OSHS HFFE LSFEH|(VPN) 2|
5,062, 0002 * 10CH 50,620
O20el HERA A9IXl nHl
4,309, 0002 * 10CH 43,090
OMEFLAIAL SEAERX CIAT B4
7,000,000 *3H 21,000
OF ArAl HAAFAIAIAE DR
47,056,0002 % 14! 47,056
OMZF I EQALX|AIAE(IPS) LA
46,292,000+ 1CH 46,292
OSHs 23ty uxl 25,783,000 20} 51,566
RANE5 =2 i 17,540 13,320 4,220
201 L2 A 10,540 12,540 A2,000




SN BEAA
MM HESAY (LD T/ ULEH)
Pl SE 25 = (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 AF22t2|H] 10,540 12,540 22,000
MY RS2 U H23 WS W
15,0002 %2324*8| 2,760
OX REE L I35 NS YAZ
50,00024%12A12H+87| 4,800
OFLSUSH AR2EY
50,0002 %128 600
OXEUNSH AR2 4| 2,380
—2EH %2
100, 00024*23CH*35]%20/100 1,380
—IRIE 22
100, 00024 % 1CH*23] %50/ 100 100
—IZelH Ed 200,000 %1CH23] 400
—HEZHE 22| 500,000 = 1CH 500
405 RHAHE S H 7,000 780 6,220
01 AL SEF SH 7,000 780 6,220
OFLSUSE MAET WA
7,000,000 = 1CH 7,000
ENEBIEEE S 116,500 105,830 10,670
201 LB 54,500 53,830 670
01 AlR2:2|H] 54,500 53,830 670
OUIOIE 242 2I2tHI0IE 2
50,000,000 x14! 50,000
OUI0IE] 24 - 28 22X 2,000
—&AY 20,0002 152445 1,500
—ZAH S E2H| 500,000 %14l 500
OUIOIEI24 29 HICHA T 44
2,500,000 14l 2,500
207 AN 52,000 52,000
01 AR EAH 52,000 52,000
OOIoIH 24 52,000,000+ 14! 52,000
301 LBtEA S 10,000
14 J|Et2 A2 10,000 0
OCIoIH 24 - =P SIPNPN =
10,000,000 %14} 10,000
TIHA Z2A0ITH0| LRSS (2T RIH) 16,380 16,380
[ 4,914
Al 11,466
201 Lty 16,380 16,380
[ 4,914
Al 11,466
0?2 B229HY 16,380 16,380
OHA ZRA0ITH0| Xt sl62
1,365,00024* 122 16,380
[ 4,914




SN ESFAA
ME: NPSIAY(YBIDDHE AV
ool Y 23 =8 CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[] Al 11,466
NEEEEIES 231,19 153,501 77.698
= 13,872
Al 207,327
= 10,000
EHOIX 29 114,637 43,060 71,577
201 LBr2 Y| 34,110 43,060 18,950
02 2Z29Y| 34,110 30,060 4,050
OZHIOIX 2I01Z HHIA AIBE
600,00021+23) 1,200
OZHI0IX LI2I0I0IBI QIS AMHIA AIEE
550,00021%23) 1,100
OZHOIX Jls Xt 2,000,00021%23) 4,000
OEHOIX S8 KL%
190,000,0002*11/100%1. 1 22,990
OQIEY SHQ! J|2HeIE 2 AR S= HIE 4,820
—s2 00! 40,00021% 1024 4,080
—H2H0! 31,0002 *20H 620
—AlRE0e! 60,0002 %20} 120
207 IRt 25,000 0 25,000
02 HADHH] 25,000 0 25,000
OUEHIISAIAE S2iR2C ®st
25,000, 00021 % 14l 25,000
405 Ko S| 55,527 55,527
01 IMLSEF S| 55,527 55,527
OZHI0IX 20t NS MEAIAE D
55,527, 0002 % 1Al 55,527
NEEEEEEESY 17,900 15,160 2,740
201 LBr2 | 17,900 15,160 2,740
01 A2l 17,900 15,160 2,740
OAlBINE3 IS DI
15,0002 23287 | 2,760
OABINES NS LA
50,0002+ 16A12t+8] 6,400
OF0IHEL0IBAIE AN2SREH|
50,0004 128 600
OF0IFL0IZAIE ARD £4H| 5,140
—ZFH =cl 100,000 *32CH*20/100 640
—I2IE g 100,000 *18CH*50/100 900
—Z2IH &l 200,000 *18TH*13] 3,600
ORXIHEESBIAIBH = 24X HIE
30,00021% 1005 3,000
(E)HL30IE T2 22k 84 49,572 48,611 %61
= 11,872
Al 27,700




SA EEAAA
M HESIAIY (LD DA /AL
Pl NS =8 CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
ES 10,000
307 212+0|& 49,572 48,611 %1
[ 11,872
Al 27,700
= 10,000
02 QIFAAAIRIE R 49,572 48,611 %1
O30S T2k 29 49,572
—oIFg 39,572,000 %14l 39,572
[ 11,872
Al 27,700
—402E & EE= 10,000,000/ %1 A! 10,000
= 10,000
NE50I122d 39,090 36,670 2,420
201 L2 A 21,670 17,270 4,400
01 AFR22IHI 5,000 3,600 1,400
OFL30I2 EES(HHH, BEX S) RIZH]
1,500,000 %274 A 3,000
OFL30I2 1] AR
50, 0002 %20 A 221 A 2,000
02 222 16,670 13,670 3,000
OFL30I2 SHOIXI SXEH
35,000,0002 % 11/100%2IH Ax1. 1 8,470
OFL30I2 HEHME MAEY| M| 3,200
—2HEEH, SLH 22
100,000 %123[+24 A 2,400
—ZglH &4 200,00024%23| %274 2= 800
OXB30IZ AL SXES
5,000,000 * 14! 5,000
301 YRHEAS 13,660 15,640 A 1,980
11 BAFAHIXIRZ2 6,660 8,640 A1,980
OFL5012 HWAEH &It 0]
90,0004+ 10H*3L*1IH A 2,700
OF L3I0 ZHHRE EIt 0]
90,0002 %4 x3 %1 I A 1,080
OFE3I0IE 2YAY 1] &It
90,0002 %2 x33|x2 ) A 1,080
O30S FoIA2 AsluE &}
90,0002 *6Z 23| %1 I A 1,080
OFPSI0lE ZROHei 18 &It
90,0004 x2 & *23|*2JH A 720
14 J|EtE A2 7,000 7,000 0
O L3I0 MXHAHR il X
7,000, 0002 %274 A*50/100 7,000
307 2I2H0| & 3,760 3,760 0
02 QIFAAAIIE R 3,760 3,760




SA: EREA
M MO (LBDTHT/UBHE)
ol NSE2s = (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
O30S HAEHSH/ENHEH S &It X
(BXE 80%)
4,700,000& *141%80/100 3,760
(D)HEsNISd 243! 10,000 10,000 0
& 2,000
Al 8,000
307 SI2t01 & 10,000 10,000 0
& 2,000
Al 8,000
02 SIZFIAAIIEE 10,000 10,000 0
ONBSHOISHSESN
5,000,000 204 2~ 10,000
= 2,000
Al 8,000
ST (LS SHE/UBIEHE) 508,787 474,977 28,810
Shlate| 503,787 474,977 28,810
Shlze| 503,787 474,977 28,810
201 L2 3| 261,787 274,977 A13,190
01 At=22t2ld| 81,911 1,200 80,711
o2 E9| 80,711
—we| Y SHEHl |2+
895,000,000&+7/100 62,650
—SESHYSAIAYE SN2
258,009,520 *7/100 18,061
OHFHHS HE M
1,200,000 *13] 1,200
02 2223H| 179,876 273,777 A93,901
O¥ESHY dM2sldz & NM3le3 154,376
—&SAEZ 9,500,000 %12 114,000
—=HEESNY AIBZ
400,000&*123 4,800
—AMUHEEIE AIBE
21,0003 *603| &x 12 15,120
-0l 28y 523,000&x12& 6,276
—SESHLS d23d AEZ
82,5002%23| &1 128 1,980
—E22 SHHES sz
2,500,000 23 5,000
—RELS SHdE 600,000 %122 7,200
OAI&EH| s8I 25,500
—SAEH| 2lb] 1,000,000« 122 12,000
— A4 THHEXIOf 8 Saldz AX|
1,500,000 *73] 10,500
—YEEHH RAES 3,000,000 *14! 3,000
405 XHAHEISHI 242,000 170,000 72,000




SN EBTAA
NI SAAL(LLIDIYFT/ULIHT)
el Salae (CH: ®2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
01 AU SEFSH| 242,000 170,000 72,000
OLE |PHESEPD| WA 500,000 *400CH 200,000
OPoEARIX| P& 2,500,000 +8LH 20,000
OXFESAZAL E2AAL EH| 2
22,000,000 %14l 22,000
SHEAH LIS I /ALHEHE) 98,114 90, 148 7.966
[ 43,740
Al 54,374
HIEAF 98,114 90, 148 7,96
[ 43,740
Al 54,374
SHZEAF 2 22 9,550 8,550 1,000
201 LBt A 9,350 8,350 1,000
01 AF22t2IHI 9,350 8,350 1,000
OSHHAB I} L2t 40,000 %200 8,000
OAZE SHEA EES
50,0002 x6IH A*33] 900
OAZE SH ZARE 2
150,000 %33 450
301 Y2 A S 200 200 0
11 SAAHIXIR S 200 200 0
OSHZAb DSEA ZAH
50,0002 x2H*23] 200
C) AFSIZ A 42,925 40,631 2,294
[ 30,049
Al 12,876
101 QI124H 9,680 9,444 236
[ 6,777
Al 2,903
VSIENEE S 9,680 9,444 236
OBYET - FFAl AFBIZA 9,680
—ZZAt2e| Xt 81,840 %2 3% 192! 3,110
[ 2,177
Al 933
—EjHRA 78,8802x8%H* 10 6,311
[ 4,418
Al 1,893
—DEMHEE 259,000 * 14! 259
[ 182
Al 77
201 LBt A 33,245 31,187 2,058
[ 23,272
Al 9,973
01 AFR2t2IHI 33,245 31,187 2,058




SN EREA
ME: SHEA(UBIDDHN/UBIHE)
=l SHZAL (cro): =2l
SN B . S9(3) - HRAY - BaS ol e IS
OBAEE - Al ARSI ZAf 33,245
—C2EAR 2"
78,830 21% 16 * 17 21,456
[ 15,020
Al 6.436
—CTZZXAR DEH|
6,0002*162* 16 1,536
= 1,075
Al 461
—E82= 10,0002 %9120} 9,120
[ 6,384
Al 2,736
—orNEZ 30,00024%18% 540
= 378
Al 162
-2383 598,00024*14! 5%
[ 415
Al 178
() AFZIRI AL 45,639 40,967 4,672
[ 13,691
Al 31,948
101 Q12| 13,285 12,953 332
= 3,985
Al 9,300
M4 JIAH2ZXNEES 13,285 12,953 332
OAFITI AL 13,285
—E22kt 81,840 %1 *28Ux70% 1,605
[ 481
Al 1,124
— R ArZte| R 81,8402 *3H 282 %7(% 4,813
= 1,444
Al 3,369
— AR 22| R}
78,88021% 12 +282x70% 1,547
[ 464
Al 1,083
— AR 78,8802 x4 * 182 %70% 3,976
[ 1,193
Al 2,783
—40 2 1,344,0008%12] 1,344
= 403
Al %1
201 LBr2 | 32,354 28,014 4,340
[ 9,706




SN SEAAA
HE: SHTAHLLIDDHT/UBIHT)
S SAHEA (Ctol:®2l)
2A - HH . H(SH) - MRAIY - BES Ol AtK %E&, Hns2t
Al 22,648
01 AFR2t2IHI 32,354 28,014 4,340
OAFIHI AL 32,354
—CZXAH g
78,88021%212x262%70.002% 30,149
[ 9,045
Al 21,104
—CZ2XAY DEH
6,000 *21H %252 x70% 2,206
[ 661
Al 1,544
00TV 2% 2 22|(S2E M LR/ THLHETY - o12te]) 4,271,389 7,812,799 3,541,410
TV 29 2 22 4,271,389 7,812,799 13,541,410
CCTV SE2MAIEH 29 3,047,389 2,641,604 405,785
101 QI24H 949,686 934,946 14,740
M IIR22IEES 949,686 934,946 14,740
OJIRZHH2Z2ISE 4 949,686
— 2l 3,007,520 %24 % 122 866, 166
—282 290,000 %242 122 83,520
201 L2 A 1,367,703 1,278,958 88,745
01 AFR2t2IHI 439,705 16,220 423,485
OCCTVE 2t RIMIE] 242
1,100,000+ 122 13,200
OATRE 4 2,000
—=SAD| EYH 200,000 %1CH*33] 600
—PC =cltl 100, 0004 +40CH*20/ 100 800
—DJIEt ==2lbl 50,0002 %122 600
OSSRHIHME R4 A2
15,000 %12 180
OSE2HMHAE B4 A2
35,0002 %2CH+ 12 840
OZ2I2AHI(CCTV RKXIZES) 45,969
—ALES 02t
1,600,0002* 10CH*7/100%1. 1 1,232
—35I2& St
1,300,000 +80CH*7/100%1. 1 8,008
—22i Stofet
900, 00024 *530CH*7/100%1. 1 36,729
OZ2I2AH|(ZHAIAL SX|S2H]) 377,516
—H/MW(2HIAH, MEEX S)
1,653,589,00024%7/100%1. 1 127,327
—UIERD ZHI(L2, L3 AR S)
103, 109,00024%7/100%1. 1 7,940
— SHORAIH| (L5hH)
520,969,000/ x7/1001. 1 40,115




SA EBEAA
H: 0TV 2% 2 ZR|(DTEALOHE/THLHTY - 212S)
S CCTV 2% & 22| EEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
—SHAHI(UPS, eeats)l S)
46,142,0002%7/100%1. 1 3,553
—S/M(SSZH, HE=H S)
981,132,00091%11/100%1. 1 118,717
— RHHQIA A ALY
1,815,081,0002*4/100%1. 1 79,864
02 B2 927,998 1,262,738 334,740
OCCTV 4-2l2e4 50,000
—CCTV 22| & 0l &X|
2,000,000+ 103 20,000
—CCTV S4l 82 &R
3,000,0002/% 103 30,000
(OEFaIN=1=d 749,298
—HIE 3,000,000@4* 13| &1#128 36,000
—FANE 70,0009 +6203] &% 122 520,800
—xSstn, =5t
70,00021%413| &+ 12 34,440
—XfeFiE 01A! CCTV
70,00081%1223] &+ 122 102,480
—4l7 &X| CCTV &M
80,00021%903| ¢1+7 2 50,400
—THLOIE AQIEAE| SBZHE M85
431,5002% 122 5,178
OmIIAEE 128,700
—dIE 1,500,00094% 122 18,000
—2NY, SH=
18,00021%4607) A+ 122 99,360
—alA 18,0002 %001 A*72 11,340
405 XHAHEISHI 730,000 427,700 302,300
01 AL EZ3|SY| 730,000 427,700 302,300
OADIERHAIAY =4
550, 0002 *300% 165,000
OCCTV MEE JIAsH At 20
45,000,0002 14! 45,000
OMNHIE B2 106 25 =4
15,000,0002 14! 15,000
OXIBIHHIZIE LAHAIAL 2=
55,000,0002 14! 55,000
OXNZ2UHZ2E(NR) 7204
500, 0002 +200CH 100,000
OUIET H2HMH AIAE 20144 204
25,00024%1,000CH 25,000
ORI UM QUAAAY D=
44,000, 0002 *5CH 220,000
Ogat 24 a0 &=246 0
105,000,00024% 1Al 105,000
CCTV  &xX| 1,224,000 1,404,000 180,000




SN SEAAA
HIM: TV 2% L ZE(SIEMLOHE/THLHERY - 21849)
S CCTV 2% & 22| (cHol: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
401 AIEHI L2 0HY] 1,224,000 1,404,000 180,000
01 Al&HI 1,224,000 1,404,000 180,000
OFQEZ2 YR TV &X 500,000
— XS QAR OCTV &R
10,000, 0002 *20CH 200,000
—SYH4 TV A7 &X
5,000, 0002 *60CH 300,000
OSHE DISYWHE CTV M 2 A7 &X
4,000,000 %76CH 304,000
OSAZ XIs8 ADIE oAl CCTV AX|
10,000, 0002 %30CH 300,000
OLE S CCTV WAl
3,000,000 %40CH 120,000
HE2AHH|(ZEEA A (DIEHDIEH 138,388 112,570 25,818
J|=2ZH| 138,388 112,570 25,818
J1=3H| 138,388 112,570 25,818
201 L2 A 37,948 28,570 9,378
01 AlR2:2|H] 37,948 28,570 9,378
O=ARK 7 20,0002 %248t A x 122 5,760
OS20HAHI 8,000 +7Ax24 3« 122 16, 128
Ogbte2g 100,000 * 122 1,200
OAAZ SA7L] 50,0009 122 600
OARE 24 11,380
—ZADI(UE) 2
1,000,000 *1.5CH 1,500
—Z2IED| %2l 100, 0002 *6CH*50% 300
—=SADI EH 200,000 %53/ x1.5CH 1,500
—ZelEDI(8%) EH
200,00021%55|+6CH 6,000
—Z2IEDI(~Za) EY
200,000 %53 1CH 1,000
—PC =l 100, 000 24 TH*20% 480
—J|Et==clt| 50,0002 *12& 600
OJIEt AtR2eld] 10,000 +24 %« 122 2,880
202 OiH| 95,040 79,200 15,840
01 2LH0IH 95,040 79,200 15,840
O2tLiodbl 20,0002 %24 * 12« 122 69,120
OZ2l04b| 120,000 %24 %92 25,920
203 2= 4,200 3,600 600
04 ENSHADREAIY 4,200 3,600 600
ORAN2ILRFEIY]| 350,000 %12 4,200
204 B4 AH| 1,200 1,200
01 AR LHAH| 1,200 1,200 0
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